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Explain Robinson’s Scarcity oriented definition of economics.

OR
Explain Marshall’s definition of economics. 4
Explain the Concept of Value and Price.

OR
Explain the Concept of Wealth and Welfare.

Explain the concept of Utility.
OR

Explain the concept of consumer surplus.

Explain concept of price elasticity of demand and their types. 6
OR

What is demand ? Explain law of demand.

Explain the determinates of demand, 4
OR

Explain concept of income elasticity of demand.

State the difference between demand for Consumers’ good and Producer’s good. 4

. OR
Explain the concept of Inferior goods,

Clarify the concept of Average Cost and Marginal Cost. Discuss the relationship

between ACand MC with diagram. 6
OR

What is Iso-quant.curve? Explain characteristic of Iso-quant curve.

Explain the concept of production possibility curve. | 4
OR

Deseribe the concept of Average Revenue and Marginal Revenue.

Explain the concept of Opportunity Cost, 4

OR

Explain the concept of fixed cost and Variable Cost.

What is Monopolistic C it o Y
Competition. " ompetition ? Explain characteristic of Monopolistic
_— ~ OR % 6
+ 15 Monopoly ? Explain characteristc of Monopoly
- :
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(b) Explain the concept of Selling Cost.
OR N
What is price Discrimination 7 When it is possible ?
(c) Explain characteristic of Perfect Competition.
OR
Explain the concept of Oligopoly-

5. Choose the appropriate answer from the option given under :
(1) Who given the definition of welfare

(@) Adem Smith (b) Marshall (c) Robinson  (d) Samuelgson
(2) In case of perfectly unelastic demand, e = ?
(a). >1 (b) <I (¢c) 0 (d) oo
(3) Geffen goods and its demand have relationship.
(a) Positive (b) Negative (¢) Neutral (d). Noneofabove
4) has given the idea of kinked demand curve.,
(a) Paul M. sweezy (b) Marshall
(¢) Keynes - (d) Schumpeter
(5) Supply and stock are the same. :
(a) True (b) False (c) Can’tsay (d) None of above
(6) In which case all costs are variable ?
(a) Medium Term (b) © Short run
(¢) Longrun (d) “Inall time period

(7) What is Marginal Cost ?
(@) Cost of the first Unit of output
(b) Cost of the Last Unit of output
(c) Cost of the additional Unit of output
(d) Cost of the middi€ Unit of output

(8) In which of the following markets a firms a price taker ?

(a) perfect competition (b) monopoly
(c) Oligopoly (d) monopolistic competition

(9) In which market Average Revenue, Marginal Revenue and Price have ?
(a) monopoly (b) perfect competition

(¢) Oligopoly
(10) In which market price discrimination is n

. (a) _Oligopoly

(d) monopolistic competition
ot possible ?
(b) monopoly

(c)/ perfeet competition td) monopolistic competition

(11) Demand and Price have _ __ relationship.
_ (a). positive (b) negative . () constant (d) nil

(12) How many producer are in M?n?pohst:c Competition ?

(a) many (b) u]]lu'n.lfﬂd (¢c) two (d) one
(13) Goods under perfect competition are :

(@) homogeneous (b) different .

(¢) far substitutes (d) close substitutes
(14) From of which language the word Oligopoly is derived

(8) English (b) German (¢) France (d) Greek

- —-—-"_'N-..__‘___.
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Instructions : (1) This question paper contains total five questions.
(2) Al question carry equal marks.
. Explain Law of Demand through utility analysis. 4
OR
(A) Explain “Indifference curve has a Negative Slope™. ;

(B) Explain “Indifference curve is convex to origin”.

2. Explain the consumers equilibrium with the help of budget line and indifference

curve. 14
OR
Explain the shift and the changes in slope of budget line,
3.  (A) Whatis price elasticity of Demand ? Describe it's type. 7
(B) Explain the factors affecting price elastieity of demand. 7
OR
What is Income elasticity of demand ? Discuss it's types and factors affecting Income
elasticity of demand. 14
4. (A) Clarify the concept of production. 7
(B) Explain the concept of production function. 7
OR
Explain the law of variable proportion. 14
5. Multiple Choice Questions (one mark each) | . 14
(1) Whohas given the law of Demand analysis through rpargmal utility 7
(a)  Alfred Marshall (b) Robbins
(c) Hicks (d) Adam Smith
(2). Generally indifference curve has which slope ‘
(a) Negative (b) Parallel to X-axis
(c). Parallel to Y-axis (d) Positive

(3) - On which factor is Budget line dependent ?
(a) Consumer’s disposable income '
(b) Price of both goods
(c) Income of the consumer and price of goods
(d) All of the given
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(4) What else is budget line called ?

(a) lndiffercn_cc curve (b) Marginal rate of substitution
(c) Opportunity line (d) Demand line

(5) From the following in which situation congymer'« equilibrium is obtained ?
(a) Price > Marginal Utility (b) Price < Marginal Utility
(¢) Price = Marginal Utility (d) None of these

(6) What is indicated by indifference curve ?
(a) Income of consumer (b) Price of commodity _
(c) Standards ol Performances (d) Income of Consumer and Price

(7) What is indicated by Budget line ?
(a) Purchase of consumer
(b) Possibility of purchase of consumer
(¢) Income of consumer

(d) Pnce
(8) How many types of Price elasticity of demand are there ?
(a) Two (b) Five (c¢) Four (d) Seven
(9) What will be the nature of demand if elasticity of demand is 1 ?
(a) Perfectly elastic demand (b) . Unit elasticity of demand
(¢) Perfectly inelastic demand (d) Elastic demand
(10) What is the slope of demand curyve when demand is perfectl y inelastic ?
(a) Neg:ajcive slope (b) Parallel to horizontal axis
(¢) Positively slope (d) Parallel to vertical axis
(11) How is the flemand of most.or goods of rich people ?
(a) Ela_?-tm | ' (b) Perfectly elastic
(¢) Unit elastic (d) Inelastic

(12) Relationship between which factors are shown by product; .
(a) Productionand factors of production P ion function °

(b) Production and sale
(¢)  Production and purchase
(d) ~ Sales and purchase

(13) What is the size of firm in short run production function ?
(a). Fixed  (b) Varisble  (c) Flexible (d) Uncertain

-(14) To \;rhich sector law of decreasing returs applied first ?
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